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1) A box of computer paper has forty sheets left in it. If each printer in a computer lab needed
six sheets how many printers would the box fill up?

40

2) A food company has thirty-four kilograms of food to put into boxes. If each box gets
exactly six kilograms, how many full boxes will they have?

34

3) A post office has thirty-five pieces of junk mail they want to split evenly between two mail
trucks. How many extra pieces of junk mail will they have if they give each truck the same
amount?

35

4) A school had thirty-four students sign up for the trivia teams. If they wanted to have four
team, with the same number of students on each team, how many more students would
need to sign up?

34

5) A builder needed to buy twenty-six boards for his latest project. If the boards he needs
come in packs of nine, how many packages will he need to buy?

26

6) A botanist picked forty-three flowers. She wanted to put them into six bouquets with the
same number of flowers in each. How many more should she pick so she doesn't have any
extra?

43

1. 6

2. 5

3. 1

4. 2

5. 3

6. 5

     

Solve each problem.
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